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I Analyzing yvi "v's rule (end of mwn): if it had 07135 90 nyw, nY»yn is now lifted; if it had no >0 nyw, nyn still attaches
a  examples of i nyw 75 anir. if it had nyY, or became Xnv or went out of precincts
b examples of 7777 nyw 75 i k2. if it was vnwl with intent for nMpR/NINTS YIn or Np*/nYap was done by Do
i p79 73 Y58 715 K19 12 (tomorrow, in w1TA N73, ask) whether »”1 meant NV NY NN, NPT INPA or NYIR NN
1 prr nomw anon
2 P’y AR NN
(a) ~7r 71 our mwn supports neither — 15, we assume, refers to DT 211w NPT N

(i) rejection: means 0T was pIn and w1 lapsed (supporting janv ")

(b) challenge: our nwn lists NT NR 1PN PXIDA WYaP as example of AN MYV 15 AN RY

(i) assumption: means P94 did nYap — even if 1w did npre
1. argument: if both were done by 19109, why the need for both being %104?

(i) challenge (9op *7): if the wording of mwn can be “split” like that, 2:X> m'nar, which exempts a garment that
got N%1va nrvn 07T from n2v whether or not it had 757 nYw before becoming 9, which gives the
same examples as ours:

1. w7 nyw 75 Ani if it had nyY, nkmY or leaving the precincts

2. i nyw 5 A &5 if it was vnwl with intent for nmpn/ninty yin or np»1/nvap was done by w9109
(iii) 907 “r read as inexact language; else, we infer that if 0w did 1"nr+n%ap, it would require ©1223?

1. however: v. 1 indicates that it is only D7 that has not yet been pan that has that effect

2. therefore: our Nywn must also be explained as using inexact language

3. challenge (»o& "): if so, why have 2 n1wn which mention np»1/n%ap but are meant Xp17 1RY?

(iv) rather (’o& 77): our mwn is read narrowly (3:X’ DNt is RPNT WXY), teaching that yoa nHap=DorY
1. consequently: if 9104 did np»n n9ap, even if 7w did npan nHap afterwards, invalid (0»7w NP NYap)
2. challenge: this was a question posed by 5”a2v1 to 130y "7 — does %105 generate 0»7w?

a. pnr 7 answered that the only 9109 that generates 0w is ympn/Mnty yin; since it’s 1985 n¥In
b. inference: this excludes 708 np»™n nYap, per ”...127 7 PR”
c.  correction™ meant there’s nothing which is not 1127¥1 NN yet=>0» 1w save for 1Mpn/nntd yin
i.  but: Rnv, which can be legitimated 112%3, does generate 0»71’w — other P9 va do not
ii.  therefore: 'or "1 applied x:® m'nar to Xnv, that even though 59, it makes n» 1w

(c) challenge: X2 — 59 always carries 19'yn

(i) assumption: only if there was no np™r (YW’ "1’s “In NYY” means NPT INN)
(ii) rejection: even if there was nyp»1 — meaning of “always”, per 21 (above) — 19 np»r doesn’t affect n»’yn

(d) support (for pam1277): 2R N2’»n RNaLIN — W™ rules that some amm has n%Yn, some doesn’t

(1) distribution: if N1y was before np» 1 — nYyn; if after np T — no NN
1. assumption: if there was time for np>1, Noyn still applies if there was no np» v (028 M)
2. rejection: n9ap may have been done just before end of day —no time for np»r (= np»™1 non)
a. challenge: if so, Xnavin should have used that split — if before sunset/after sunset
b. answer: indeed, that is what is meant — if it was fit for np»1/unfit for np»t

(e) support (for jany *9): parallel Xn»a (W™) — some Y19 has n9yn (if before np’11), some has it lifted (after np»r)

()

(i) distribution (etc.): as per above — resolution — Xn»12 means “fit for np»1” or “unfit for np*1” (sunset)
support (for 1212 77): 2:8 Ny Rnaon — there is n2yn in 519 of DWTP VTP
(i) assumption: even if there was 7’071 (=@ nY9R IN°N)
(i) rejection: referent is only if there was no 7mt (@ np>r I*N)
1. then: if there was N1 — no nYyn (and we don't apply 07 P13 PIOY TMYN Y2 in YNa)
2. challenge: then why mention n*w1p >w1p at the end of that xn»7a (12 P50 PR DOP DWTP2)
a. should mention: distinction between np»t »NR/71a%
b. answer: teaches that when np»1 is needed to attach n%yn (9”"p1p), only proper n»’»n can do so;
i.  but: whenever np>»1 is needed to “lift” n%yn (WP *W1P), any NPT (even Swa np>ar) valid
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